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Table 1  Result within the fitting data range for example 1
t H, He o X r Hy , e 5
1 10 1. 41
2 20 2.49
3 30 3. 50 3.506 3 0.006 3 0 3.5063 0. 006 3 1.134 4
4 40 4. 50 4.444 6 0.055 4 1 4. 456 9 0.043 1 2.483 6
5 50 5. 57 5.430 0 0.140 0 2 53401 0.229 9 4.068 4
6 60 6. 90 6.561 4 0.338 6 3 6. 1546 0.745 4 5.826 6
7 70 10. 30 8132 4 2.167 6 4 6. 899 7 3.400 3 7.713 1
8 80 15. 30 13.487 2 1.812 8 5 7.5749 7.725 1 9.692 6
9 90 19. 70 19.986 3 0.286 3 6 8 1801 11.519 9 11.736 1
10 100 23. 30 23.792 17 0.492 7 7 8 7155 14.584 5 13.819 2
11 110 27. 96 26.612 5 1.347 5 8 9. 1819 18.778 1 15.921 2
12 120 31. 30 32.258 9 0.958 9 9 9. 5801 21.719 9 18.023 8
13 130 34. 30 34.324 7 0.024 7 10 9.9114 24.388 6 20.111 1
14 140 36. 50 36.985 8 0.485 8 11 10. 177 3 26.322 7  22.169 1
15 150 38 18 38.412 7 0.232 7 12 10. 379 5 27.800 5 24.185 8
16 160 41. 39 39.588 9 1.801 1 13 10. 520 1 30.869 9  26.150 4
17 170 41. 85 44.240 3 2.390 3 14 10. 601 3 31.248 7 28.053 7
18 180 42. 31 42.078 3 0.2317 15 10. 625 4 31.684 6 29.887 8
19 190 42. 77 42.536 0 0.234 0 16 40. 595 1 32.1749  31.646 1
20 200 43.22 42.993 7 0.226 3 17 10. 513 1 32.706 9 33.323 1
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Table 2 Result without the fitting data range for example 1
r 0 1 2 3 4 5 6 7 8
21+ r 21 22 23 24 25 26 27 28 29
Hay r 43.4319 43.4159 43.1829 427442 421120 41.2985 40.3164 391787 37.898 3
r 9 10 11 12 13 14 15 16 17
21+ r 30 31 32 33 34 35 36 37 38
Hoy » 36. 4884 349624 33.3333 31.6141 29.8178 27.9572 260445 240918 22.1107
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Table 3 Result within the fitting data range for example 2
4 Vi j/H 0 X r j]}}* r [ Sy
1 1.405 5
2 2.361 8
3 2.770 8 1. 8197 0.9511 0 1.819 7 0.9511 0. 700 8
4 2.3252 1. 8396 0.4855 1 0.872 5 1. 4527 0. 99 6
5 0.972 6 L2171 - 02445 2 0.133 7 0. 8389 1. 089 9
6 0.975 1 0. 026 2 - 10014 3 -0.2253 - 07498 1. 09 8
7 1.437 2 - 13944 - 00428 4 -0.284 5 - L1527 1. 100 2
8 0.576 4 - 10577 0. 4813 5 -0.19 0 - 03804 1. 104 0
9 0.323 0 0. 009 0 - 03320 6 - 0.0815 - 02415 1. 106 9
10 0.676 3 - 00898 - 0.5865 7 - 0.0017 - 06746 L 107 9
11 0.352 0 - 05540 0. 906 0 8 0.0320 0.3200 L 107 9
12 0.448 8 0. 6380 - 01892 9 0.033 3 0.4155 L 107 9
13 0.614 8 0.3106 0. 3042 10 0.020 6 0.5943 L. 108 0
14 0.380 0 0.4394 - 00594 11 0.007 1 03728 L. 108 0
15 0.004 3 0. 1318 - 01362 12 - 0.001 3 - 00031 1. 108 0
16 1.473 6 -0 1618 1. 6354 13 - 0.004 2 1. 4778 1. 108 0
17 0.492 3 1. 5003 - 1.0080 14 - 0.003 8 0. 496 1 1. 108 0
18 0.2392 - 01096 - 01296 15 -0.002 1 -0 2371 L. 108 0
19 0.759 0 -0 4471 - 03120 16 - 0.000 6 - 07584 1. 108 0
20 1.111 5 - 06728 - 04387 17 0.000 3 - 11118 L. 108 0
4 2
Table 4 Result without the fitting data range for example 2
r 0 1 2 3 4 5 6 7 8
21+ r 21 22 23 24 25 26 27 28 29
Vaou 0.8160 - 0.3695 - 0.0379 0145 0 1321 0.086 9 00337 - 00017 - 0.0157
r 9 10 11 12 13 14 15 16 17
21+ r 30 31 32 33 34 35 36 37 38
Vou - 0.0153 - 0.0090 - 0.002 8 0.000 8 0.0020 0.001 7 0. 000 9 0.0002 - 0.000 2
2 2 2
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Abstract This paper introduces a recurrence formula for estimating the variances of errors of
a sequence forecasted by an autoregression model and gives two examples under both smooth

and nonsmooth conditions.
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